U2D8 MCR3UlI WORKSHEET Inequalities
Part A Linear Inequalities
1. Solve the following linear inequalities.

Question Answer
a) 3x+6>-3 X >-3
b) 7x=>2x+10 x 22
c) 3(x-5)<5x-9 x =-3
d) 3(y-5)<s9(y+1)-2y y > -6
e) X=2 c2x-3 xz%

Part B Quadratic Inequalities
Solve the following quadratic inequalities.

a)
b)
c)
d)

e)

x?-1>0 x>lor x <-1
x?-x-12<0 -3<x<4

(2x -3)(x+4)=20 ngorxs—ﬂf
-3x(x-5)<0 x<0or x25
k? -9k >0 k<Qorkz9

Extra Practice Questions:

1.  Solve the following inequalities and graph the solution on the real number line:
a) 06-2x>4 b) 4(1-x)=23(x-1)
¢ 203x=1)=5r>—6(1-x)+7 d) 4122
x+]1 _x+2 2-3x, 2 3c=2
O 5 O 3%
2. Solve the following inequalities and graph the solution on the real number line:
a) 41 +8x+3>0 b) 10x'-17x+3<0
¢ 2x +1lx+15<0 d) 8x—-10x-1220
e —6x'-15x-9>0 N 12x -1lv+2<0
g) —4v’ +18x+10<0
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Exte. Prache MZD@
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